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Math 314 Exam 2

Show all work. Include all steps necessary to arrive at an answer unaided by a mechanical
computational device. The steps you take to your answer are just as important, if not more
important, than the answer itself. If vou think it, write it!

1. (20 pts.) Find, using any method (other than psychic powers), the determinant of the
mafrix
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2. (20 pts.) Explain why the collection of vectors
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(with addition and scalar multiplication taken from IR3} is not a subspace of R

(Hint: what would this collection of vectors look like in IR
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3. (25 pts.) Find bases for the row, column, and nullspaces of the matrix
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. (25 pts)) Find a collection of vectors from ng the vector

1
21, 1 2
~1 2 1

Of your cnoserl bdbi& vecl,om.

[Hint: your work for the first part should tell you how to answer the second part!]
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5. (10 pts.) Explain why, if 4 is an n x n matrix and AZ = 0 has a non-trivial (Le., & # 0)
solution, then it is also true that A7 % = 0 has a non-trivial solution.

[Hint: think about invertibility, or row reduction, or rank, and what A% = 0 says about
this....]
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